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1. fRpcA > #2.5% 9yy' +4x =0.

2. fapcAs = A (4 + 3xy?)dx + (3% + y3)dy = 0.
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4 - (1) A+B, (2) B+C, (3) AB, (4) BC.

5. 3 % #1if 2 % (Gauss elimination) &t 47 4235 T 32 (Cramer’s rule) f# = 7| = fz. ke

X+y-z=9
8y +6z=-6
-2X +4y -6z =40

6. KT 7|4 ek e (eigen values)fr & #cw £ (eigen vectors).
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7. ke gd=[1,12]% b=[121]7p & & &,
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. Bt $ 2 (gradient) foo & X2+ yP + 277 = 26 £.2LP(2, 2, 3)ehE ;2 4+ £ (unit normal
vector).

9. fw & a=[yz, 3zx, Z] =47 A& (divergence)f->e A (curl).
10. — 4 #F =[xy, ] Fabi-d RC:x=costy=sint,z=3t>p t=0#& 1 t=2> &F
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